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Important Instructions for the Candidates :

1. This Test Booklet contains 50 questions printed in English and
Assamese. Out of these, the candidate is required to answer
any 40 questions. If a candidate answers more than 40
questions, the first 40 answered questions will be considered
for evaluation.

When you are given the OMR Answer Sheet, fill in your
particulars on it carefully with blue/black ball point pen only.
Use only Blue/Black Ball Point Pen for marking responses.
The CODE for this Test Booklet is A. Make sure that the
CODE printed on the OMR Answer Sheet is the same as that
on this Test Booklet. Also ensure that your Test Booklet No.
and OMR Answer Sheet No. are exactly the same. In case of
discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test
Booklet and the OMR Answer Sheet. No claim in this regard
will be entertained after five minutes from the start of the
examination.

Before attempting the question paper kindly check that this
Test Booklet has total 28 pages and OMR Answer Sheet
consists of one sheet. At the start of the examination within
first five minutes, candidates are advised to ensure that all
pages of Test Booklet and OMR Answer Sheet are properly
printed and they are not damaged in any manner.

Each question has four answer options. Out of these four
options choose the MOST APPROPRIATE OPTION and
darken/blacken the corresponding circle on the OMR Answer
Sheet with a Blue/Black Ball Point Pen.

Five (5) marks will be given for each correct answer. One (1)
mark will be deducted for each incorrect answer. If more than
one circle is found darkened/blackened for a question, then it
will be considered as an incorrect answer. Unanswered
questions will be given no mark. P.TO.

> w

QIT-RIS19 AT GFG Y [N ATYZ -
1. (6% JICAGUNS 50 BT o RIG® WF ST QAT
=R AR TR 2 T (AT 40 B 297 T8 H[RQ
AR I FIAT AILHIATT 40 OrOtd WEF NS BB
FHI (OB AYNT 71T 40 BT 2F B@I< (X W 771 271
. OMR TS (OTN{ SANRIR (el NI/ AT FENR
AV HIRAT
. MIfFST AR (FIT N/l FHAR FeIN 7RIS BT
4. (GF IHEAGI G A | OMR I F'T AP RUATT (2R
o] Afe A e 2311 orER [Afe =231 (7 corwe (5%
JIHCI6F N9 WF OMR “P® V79 AP AR V2| MM
e foRel aF (O [RTIOT ENfOfGrotacd O Fare
GHIR AIf5 WE (B JBCEI6, OMR Pre Safq FfF &'
AT | 2[H WS (TR A W6 ge 92 [g7e
(R W1 TS N120fHFA|
. o GG FF WSS BI] A (T JFEAGLNS Yo YT 28
WqF OMR T8F *PIRIT AF “PRS WA N2
AIPFRITHE AT AT 2T TS AIH WS (TR
5% «ifc N5 Tose T FE (BT JFE6 =WF OMR
%Wwwwmﬂaﬁwmwwm
?

AFSTET 2T Tes bIfI0! [y Wg| A2 5If{61 [Fg wfe
e IFFer A5 FF OMR Tel AGHR SeA/Fa
FACNE dark FRATI
. AfSTBr @ T8<S A (5) V99 W I T ARSE!
8% @IS A (1) VI IO F91 2| IM Jorotd @R
IS dark B AMF (OIS (O AT B wel Jfel [Iqo1
F I TF 58T VB ANS (HFIAT N7 o 9271
F..4.

6.

Name of the Candidate (in Capital Letters) :

IHIRIT AN (TI6F 0T L) :
Application Number (in figures) :

HIIM NS ¥¥9 (figuresO) :
Roll Number (in figures) :

(<17 N]9 (figures©) :

Centre of Examination (in Capital Letters) :

I (FHI NIV (TISF O ALFO) :

Candidate’s Signature :
IR B

Facsimile signature stamp of Centre Superintendent :

Invigilator’s Signature :

CQIIS) @?@CEIGQ b_%:

(FH AIHFH Facsimile stamp B3




301 EAS/A (2)

1.

Libraries run by charitable trusts are an example of :
(1) Partnership (2) Not for profit organisation
(3) Companies (4) Cooperatives

The main source of revenue for 'not for profit' organisation is :
(1) Sale of goods (2) Sale of periodicals

(3) Subscription from members (4) Sale of assets

Match List-I with List-II.

List-I List-11
(A) Share capital () Will be called at the time of winding up
(B) Reserves and surplus (I) Calls in advance
(C) Reserve capital (III) Subscribed but not fully paid
(D) Current liabilities (IV) Sinking fund

Choose the correct answer from the options given below :

(1 A)- D, B) - 1), (C) - (IID), (D) - (IV)
2 (A)- (D, (B) - 1), (C) - (1), (D) - (IV)
3) (A)- D, ®B) -, (C) - AV), (D) - (1)
(4) (A)- ), (B) - (IV), (C) - (D, (D) - (D)

Which of the following would affect the Revaluation Account at the time of reconstitution of a partnership

firm ?
(1) Increase in assets (2) Drawings against capital
(3) Interest on capital (4) Parntner's salary

Identify the correct sequence to be followed while preparing of final account of a partnership firm :

(A) Profit and Loss Appropriation Account

(B) Profit and Loss Account

(C) Trading Account

(D) Balance Sheet

Choose the correct answer from the options given below :

(1) (©), (B), (A), (D) 2 (A), (©), (B), (D)
(3) (B), (A), (D), (C) @ (O, (B), (D), (A)
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1.

MO NI 1 (B[O G211 ARGIA® AfROIETYR Oeto MRS oo f[F23 CrizaT:
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(1) B&Ne AN [p! 2) A A GHR [{H!
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OIfAPIIF OIfABIIF CHATS AT
SIfASBI-1 SIfABI-11
(A) LAV AL (1) TN IF B TNTO Z FAT T
(B) THIT (OO WFTEFS (1)  ARSIMF FZ B2
©) SIerFe Jew () PGS (R(R G TN AR FT
RAINZ
(D) bfosrefed nRFel (V) REw= @@= IS
(PG IR

T Ml RGN A5 BB IH! AR FAT-
(1) (A)- (D), (B) - (II), (C) - (I1D), (D) - (IV)
) (A)- (D), (B)- (11, (C) - (ID), (D) - (IV)
(3) (A)- (D), (B)- (D), (C) - (IV), (D) - (III)
@) (A)- (I, (B) - (IV), (C) - (D), (D) - (I)

AR [T ARSI YR omI5TNTO RS (FNGONE NIn (([{Froq@z)
AFNGT® AOR (AR

(1) I™>mI3a 2) AR [Fo_Ie uive

(3) NI 8O N (4) STROAMIR A NHAR IR

NI BT ARG JOIR FOIE JFO6 AFS FIF STATS gAY HFIRIANMT A9F ZF N
foTre I3

(A) TS NP (AIFHIN FI (JAATTG) =Ty

(B) IO I (AP RBIH

(€) (BT T (TR JFNGH

(D) (T ]G A TS 1A

TeTo Al RFTTIRINI A0S BB IO IR FT -

(1) (C), (B), (A), (D) (2) (A),(C),(B), (D)

(3) (B), (A), (D), (C) @) (©), (B), (D), (A)
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6.  Window dressing is a practice
(1) to manipulate the accounts to show a better picture of the financial position than the actual one.
(2) to show excesive depreciaton.
(3) to avoid tax.

(4) to reduce tax.

7. Match List-I with List-I1.

List-I List-11
(A) Salary to partner () Credit side of Partner's Capital Account
(B) Interest on partner's loan (I) Debit side of Partner's Current Accont

(C) Interest on partner's drawings | (III) Debit side of Profit and Loss Account

(D) Additional capital introduced |(IV) Credit side of Partner's Current Account

Choose the correct answer from the options given below :

(1 A)- D, B) - 1), (C) - (IID), (D) - (IV)
2 (A)- (D, (B) - 1), (C) - (D), (D) - (IV)
() (A)-(1V), (B) - (D), (C) - (ID), (D) - (1)
4 (A)- 1), (B) - (IV), (C) - (D), (D) - (IN)

8. Which of the following would affect the Revaluation Account at the time of admission of a partner ?

(A) Increase in assets

(B) Drawings against capital

(C) Recording of unrecorded assets

(D) Decrease in liabilities

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (A), (B) and (D) only

3) (A), (C) and (D) only

(4) (B), (C) and (D) only
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6. 529 (TR (T IFAFIIL Wy~ I

(1) Bfere RS TRER g7 45 G WIFOLF GG I (YRR JHFTGBIARS ST~
TORIRY

2) SIS IO YA ATAN (YT =T
(3) IIANERIFAIN
(4) FIZITFAR

7. OlBPLIF ORI (0o TN

SIfFAPI-1 SIfAFI-11
NI KB (GRTHE (D) LAWY AL GBI A oy
(B) I$HIWIRI AR IR (1) SIS TSNS JFNG6F (OIG

(C) ARSI BAISNTO] [ (Il]) &S W (PN JFNO6F (GG Y
(D) WSS JAL TSN F T (IV) DAL bfeTo ABPNGBT 4T =

SeTe Al REFTNRINI AT GBILGT AR~ T
(1) (A)- D, (B)- (), (C) - (1T, (D) - (IV)
) (A)- (D, (B)- (), (C) - (II), (D) - (IV)
(3) (A)- V), (B)- (I, (C) - (ID), (D) - (D)
) (A)- ), (B) - (IV), (C) - (1), (D) - (IT)

8. OIS OHY N (FINIGNI V@GN WA FTICHI ANTS ANLANTN (RTSTZ) TFNG6S
AT (AT
(A) TMIE
(B) eI RASMTo HiRg
(C) RIRGS T AG &I
(D) ARRAZOR @TIRIEE) Z
OeTe A [RFFTIZINRT SO F ST IR FT:
(1) C(RLET(A), (B) ST (C)
(2) (RLET(A), (B)ST< (D)
(3) (RLT(A), (C)T¥ (D)
(4) (RLI(B), (CO)AT® (D)
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9.

10.

11.

Match List-I with List-II.

List-1 List-I1
(Items of cash flow) (Type of activity)
(A) Purchase of tangible assets () Operating activity
(B) Issue of shares (I) Cash and cash equivalents
(C) Increase in current assets (II) Investing activity
(D) Marketable securities (IV) Financing activity

Choose the correct answer from the options given below :
(1) (A)- (), (B)- (1), (C) - (III), (D) - (IV)

) (A)- (D, (B)- I, (C) - (1), (D) - (AV)

(3) (A)- (D), (B)- (1D, (C) - (IV), (D) - (I1I)

(4) (A)- ), (B) - (IV), (C) - (D, (D) - (D)

Which one of the following are correct in connection with the Common Size Statement ?
(A) Expressed as a percentage on revenue from operation
(B) Horizontal analysis

(C) Vertical analysis

(D) Expressed as a percentage on total assets

Choose the correct answer from the options given below :
(1) (A), (B) and (D) only

(2) (A), (B)and (C) only

(3) (A),(C)and (D) only

(4) (B), (C) and (D) only

Calculate the resulting cash flow and state the nature of cash flow from the following information :
Acquired machinery for ¥ 3,50,000 by issuing cheque.

(1) Investing activity and outflow ¥ 3,50,000

(2) Investing activity and inflow ¥ 3,50,000

(3) Investing activity and no flow

(4) Operating activity and outflow ¥ 3,50,000
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9. OIfATPIIP OIfAPIITF (IO MR

OIfFTSI-1 SIfeTFI-11
A 4T AT AT RPTHFANT 43
(A) IBR[/ETAGI T (1) FrAFING A=
B) IR R[EHa (AD) NN Y AP V5K {NS STAQe)
©) ISAI TSI an RN FrfEasy
(D) IGR PR A A CGS av) RemFrfFersy

(1) (A)- (), (B)- (D), (C) - (11D, (D) - (AV)
2 (A)- @, B)- 1), (C) - D), (D) - V)
(3) (A)- (D, (B)- (), (C) - IV), (D) - (III)
) (A)-(ID, (B) - AV), (C) - (D, (D) - (D)

10. ST HAHFRT RIS GO AR CFa© T (FINLGI A0 F?
(A) STRRETNT T (R GRS *T01* FRBITY AP F1 =)
(B) NIl [[RUARY
(C) BTy frarse
(D) I TSI ST *IoI* FREITH AP F12T
TeTo Al RFTTHRI AR AOF GSIol AR FIF3
(1) (A), (B) AT (D) (LT
(2) (A), (B) L (C) (e
(3) (A), (C) AI¥ (D) (P
4 (B), (C)T¥ (D) (P

11. 2R} PO (R V9N 4N AR SN FIP WP R OAPTYRI I N9 G799 AT
PO Bl FI53

(53 G (1 3,50,000 BHTS W2V F1 IFANO

(1) RNTITGES S ™= 3,50,000 5HFF IARTZ
) RNITGES ST ™= 3,50,000 BHFF IARTZ
3) RNTTCIGS FrHF I (FIAT W AAZ AR
4) IIAFINT FIOFAHN F 3,50,000 GI IRANAZ
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301 EAS/A (8)
12. Arrange the following in proper sequence while preparing Cash Flow Statement :
(A) Net cash flow from operating activities
(B) Cash flow from financing activities
(C) Cash flow from investing activities
(D) Calculate net profit before tax and extraordinary items in working note
Choose the correct answer from the options given below :
(1) (A), (B), (C), (D)
2 (D), (A), (C), (B)
(3) (B),(A), (D), (C)
4 (©),(B), (D), (A)
13. The adjustment required for overvaluation of closing stock, while calculating adjusted profit for calculating
goodwill is
(A) reduction from concerned year's profit.
(B) reduction from next year's profit.
(C) addition to next year's profit.
(D) addition to previous year's profit.
Choose the correct answer from the options given below :
(1) (A), (B) and (D) only
(2) (A) and (C) only
(3) (A) and (D) only
(4) (B), (C) and (D) only

14.  Oversubscription is a situation where the
(1) number of shares applied for is equal to the number of shares issued.
(2) number of shares applied for is more than the number of shares issued.
(3) number of shares applied for is less than the number of shares issued.

(4) face value of the share is less than the issue price of the share.
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12. N5 44T 22RO ATS FI9 ANTS NSRRI F FN© 78 FIF3
(A) PPN BIRPEAHNF 1Y VW 44 AR
(B) IS FIIFANT A NoW 4 212
(©) RST FRFANT R 75M 47T AR

(D) FIF A YD AS WE FILFI (V6O AHT WAL AN SN FI5
TeTe Al REFTRI NI SAOF B ICOT IR BT -

(1) (A), (B), (C), (D)

2) (D), (A), (C), (B)

(3) (B),(A), (D), (C)

@) (C), (B), (D), (A)

13. SME FUNR AR ANETHYS A NN FIAR TNTS I (T THI WEF YT~ AR

(A) AT IRIT TSI NI ZIS (AT
(B) YT RIS o AN 21
(C) SRS| IR SO (TS JTIGH

(D) 2 IRIS IO ANS FLTIGH
ICTICR IZ03) B b VS i ) 8 PR AU (MU S IR S

(1) (A), (B) AT+ (D) (PdeT
(2) (AL (C) (LA

(3) (A) I (D) (P
(4) (B), (C)\AT¥ (D) (R<eT

14. WO QRIGHNIH (AR AN I A{FfOT©
(1) SR B YRS ST [ F YL IR TN
(2) IAN BRI CYARI T R S YRS ALY NG
(3) SN P CYNRI L I F1 CYIRI AL GTOLF FN
(4)  CT S o7 O T TTOLF S
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15. 400 shares of ¥ 50 each issued at par were forfeited for non-payment of final call of ¥ 10 per share. These
shares were reissued at T 45 per share as fully paid-up. The amount transferred to capital reserve is :

(1) 15,000 2) 14,000

(3) 716,000 (4) 713,000

16. When debentures are issued at premium and redeemed at premium, the journal entry will have the

following combination :

(A) Discount on issue of debentures account is credited

(B) Loss on issue of debentures account is debited

(C) Security premium account is credited

(D) Premium on redemption of debentures account is credited

Choose the correct answer from the options given below :

(1) (A), (B)and (D) only (2) (A), (B) and (C) only
(3) (A), (B), (C) and (D) (4) (B), (C) and (D) only

17. Match List-I with List-I1.
List-1 List-1T

(Name of account to be debited or (Amount to be debited or credited)

credited, when shares are forfeited)

(A) Share Capital Account () Debited with amount not received

(B) Share Forfeited Account (I) Credited with amount not received

(C) Calls-in-arrears Account (III) Credited with amount received towards share capital
(D) Securities Premium Account (IV) Debited with amount called up

Choose the correct answer from the options given below :
(1 (A)- D, B) -1, (C) - (IID), (D) - (IV)
() (A)-(1V), (B) - (D), (C) - (ID), (D) - (1)
3) (A)- D, B -1, (C) - AV), (D) - (1)
@ (A)- 1), (B) - (IV), (C) - (D, (D) - (IN)
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15. 400 HIF CITR 50 GFI] TOTE FeT ARTNY NHFIF I STNQEATS Gt F1 ARSTOT 50 TF T
1 02| 10 AfS CINRS F1 (DT TR ARPNY FIAF TR ATS (YRS 45 BT Y4
ST B[S PN ARG =R
(1) % 15,000 (2) 14,000
(3) T 16,000 4) *13,000

16. (IOW AVNGIYR fARTTS (WiFRFO) [feT F1 27 oW AT (WiEg=Eme) 1 <{ow
(VRITT) T2, (S ST G ARBCErS ARl sisfiree 2133
(A) VNG JHFNED (R P CF a0 (IR G FRA =T
(B) ATVNG JFNG0 et I CFG© (T (PN AN FII =
(C) ST fARRIN (WERFO) JPNGE Gl BRI
(D) WINGF JBFNSTF AL S0 (AN (AERIF) G FERA
TS A REFSTRI I ASF BB ILOI IR I8

(1) (A), (B)AI$ (D) (P 2) (A), B)AL (C) (P
(3) (A), (B), (CO)XI¥ (D) 4) (B), (C) NI (D) (BT
17. OIfIPI-1P OIARI-1I] ¢IC® TN

OIfAPI-I O I-11
(CINT IATSTNY FIIATTO (AT T GTNT HIIIASNT A=)
CSfIB AT (HIG6 FfIFAN
AFTGBI )

(A) YR (FHEA GIFTO6 (1) &To VBT AT 0o (G0 /91

(3657

(B) TSI FI JFNGB OIS0 | (1) &S RN ARV (00 Gl H (AR
I

(C) J(PAAFNGTS FIAFIYR | (1) CYNR TILNI I A1 ANV (TT®

ERIEEIES
(D) ffoglos fARR gHFre6 (IV) g;w ARV (510 (GG T

ST il REFTIZI NN S TRIo! AR FAT:
(1) @A) -@,[B)-dD, (C) - 1D, (D) - IV)
(2) (A)-1V),(B) - 1I), (C) - D), (D) - (D)
(3) A)-D, (B)- D, (C)-AV), (D) - (I1I)
(4) (A) -, (B) - (1IV), (C) - 1), (D) - (1D
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18.

19.

20.

21.

22,

Arrange the following in the correct sequence in the context of debenture.
(A) Payment to debenture-holders

(B) Creation of DRR

(C) Issue of debentures

(D) Redemption becomes due

Choose the correct answer from the options given below :
(1 (A), (B), (©), (D) 2 (A), (C), (B), (D)
(3) (B), (A), (D), (C) @ (©),B), (D), (A)

If a delay occurs beyond 8 days in refunding the subscription amount, failing to gather the minimum

subscription, from the date of closure of the subscription list, the company shall be liable for interest at the

rate of :
1) 15% 2) 12%
3) 6% (4) Prevailing in State Bank of India

A company can accept calls in advance, if authorised by :
(1) Shareholders (2) Board of Directors

(3) Articles of Association (4) Memorandum of Association

A, Band C are partners sharing profits in the ratio of 3 : 2 : 1. C died on 15 July, 2023. On this date, final
accounts were prepared to ascertain profits for the period. It resulted in a profit of ¥ 1,75,000 to the firm. To

give effect to the above :

(1) Profit and Loss Account will be debited.

(2) Profit and Loss Appropriation Account will be debited.
(3) Profit and Loss Account will be credited.

(4) Profit and Loss Appropriation Account will be credited.

On the date of admission of a partner there was a balance of ¥ 45,000 in the account of machinery. It

was found undervalued by 10%. The value of machinery will appear in the new Balance Sheet at :
(1) 49,500 (2) ¥50,000
(3) ¥40,000 (4) T40,500
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18.

19.

20.

21.

22,

VAT Ao RREARSRE AT TN [ F953

(A) ATNGLITFAE 4 AN FM

B) % =R =R JRFm

(C) AIHNG G 40

(D) & ATAGAI 0 A

TeTe Il FREFITNRT T A3 F BSIO! AR FIB

(1) (A), (B), (C), (D) (2) (A), (O, (B), (D)
(3) (B), (A), (D), (C) @ (©), (B), (D), (A)

W TSR AR T2 AR CF g s Mg WfEF NN T, PoN A0Trel 5oz Fro B
T, STHSTOT IR I (FAI] LI N1, (FEATNIOT IS S0F L AITG 24

(1) 15% 2) 12%

(3) 6% 4) (TG (I < 2SI oAbfero
BT (FTTRITT ST T 2 BRI HE, I 3WR IR WL NH® =7
(1) SALAARTB ) ARGES T Tm

(3) LTINT ATHIAR 4) CNCNRISN S g% =N

A BIFE CIRT3 : 2 : | AYANOS AT© OIS FI WA 2023 5K 1 GEA12® C-F TP
.42 TS G2 STNAQRTS 1 WG M FOIS JFMO6 S FT (256 2T FeT© I
(FIG GFIR Ale (2R AFSBINIGI 1,75,000 GHT.SAIS I[P Holqo B4

(1) S W< (PG JFNGHGI NI AV (FARIR ]|

2) FIS WP (FIPHT A[ON JPNGBF AN A (TR R S|
(3) IO P (FAIPEI JFNGT® G FI2 )

(4) IO P (AP NIH JPNGDBO G FI[ X |

JORTR! TLAMES AT OIILS YN R 500 B30, TFATOF I 45,000 BT 2IF &5 10
WOI$* BN (AR C51ReA T (TS G FNSI &5 AT 50 THTS (MU Ty

(1) %49,500 (2) 50,000

(3) 740,000 (4) 40,500
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23.

24.

25.

26.

27.

Dividend received is

(1) Operating activity
(2) Financing activity
(3) Investing activity

(4) Cash and cash equivalents

A partnership can have maximum 50 partners. This limit has been set by the :

(1) Indian Partnership Act, 1932
(2) State Government
(3) Indian Contract Act, 1872

(4) Central Government

Which of the following is an example of sequential code ?
(1) Using Code “CL001” for “Accounts of XYZ Ltd”.

(2) Using Code “100-199” for “Dealers of Small Pumps”.
(3) Using Code “SJ” for “Sales Journals”.

(4) Using Code “HQ” for “Headquarters”.

If there is no claim against Workmen Compensation Reserve, it is

admission of a partner.

Fill in the blank with the correct answer from the options given below.

(1) debited to old partners' capital account.
(2) credited to all partners' capital accounts.
(3) credited to old partners' capital accounts.

(4) debited to all partners' capital accounts.

at the time of

A, Band C are partners sharing profits in the ratio of 3 : 3 : 4. They decide to share the future profits

equally. The sacrifice or gain of partners are :

(1) A gains 1/30; B gains 1/30; C sacrifices 2/30

(2) A gains 2/30; B gains 1/30; C sacrifices 3/30

(3) A sacrifices 1/30; B gains 3/30; C sacrifices 2/30
(4) A gains 2/30; B gains 3/30; C sacrifices 5/30
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23.

24,

25.

26.

27.

1S BT AT (AR

(1) IO Iy

@) RSmIFrfFary

3) RfScoR e

(4) WO 4N P N9 4 TNGET

BT ARG A 50 TN HLAAIF AHFF AT, 42 1 ({77 T (=R
(1) SO FLMATY T2, 1932

) ICVHIFE

(3) OO 5 W2, 1872

4) (FUTEIPR

O] (FINGT (AR PP H(FOF GUIRIN

(1) JHARGG [ANEGT JHFNGG T (PNG "CLOO 1" ITIRIS F (2R
(2) ST A I I NI (FNG "100-199" WIS FI (R

3) R A GFI IIMI (PG IRy FIRE P (AR

@) (TG (FRIGR I AR (FG 25, [Fo. IR F (2

M AT FORT TTHNR [RET7 (FAT WA N2, (ST (20T X A FLANMRE AR
EREIC |

et T REFI V-1 ©% TSI WAl 18 FY FISP |

(1) 2FF AR AN JFNGGS Gl T (2R

(2) STFEA LA YA JFNOOS Gl FT (27

3) R HAHIAFAI YA JFNODS Gl FT (X7

(4) ST LIRS eI JFNO0S Gl FM =Y

A BF CTR(T3 : 3 : 4 TATOS WAV OI91.I0 101 (SSTEANF ©f IO S TSI
ISR K IOE | 2 B AR 0 R K AU RO L B B B EACH B S G | IR

(1) A 1/30; B #TS 1/30; C SI5Y 2/30;

(2) A 2/30; B TS 1/30; C SI5Y 3/30;

(3) A BTSN 1/30; B AT 3/30; C O 2/30;

(4) AT 2/30; B A1 3/30; C OIT5Y 5/30;
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28.

29.

30.

31.

Match List-I with List-I1.

List-1 List-I1
(Equal amount of drawings made) (Number of month for which interest calculated)
(A) Atthe end of each half year () 4.5 months
(B) At the beginning of each quarter (I) 6.5 months
(C) At the beginning of each month (III) 7.5 months
(D) At the end of each quarter (IV) 3 months

Choose the correct answer from the options given below :

(1 @A) - D, (B) - 1D, (C) - (), (D) - AV)

) (A)- (D, (B)- I, (C) - (II), (D) - (AV)

(3) (A)-(1V), (B) - D), (C) - (D), (D) - (1)

4 (A)-(1V), (B) - ID), (C) - (ID), (D) - ()

Kavita and Lalita are partners, sharing profits in the ratio of 2 : 1. They decide to admit Mohan for
1/4" share in future profits with a guaranteed amount of ¥ 25,000. Both Kavita and Lalita undertake to
meet the liability arising due to the guaranteed amount to Mohan in their respective profit sharing ratio. The

firm earned profits of ¥ 76,000 for the year 2022-23. The deficiency borne by Kavita is :
(1) ¥4,000 (2) ¥2,000 (3) ¥6,000 (4) ¥4,500

Anshu and Nitu are partners, sharing profits in the ratio of 3 : 2. They admitted Jyoti as a new partner for
3/10 share which she acquired 2/10 from Anshu and 1/10 from Nitu. Calculate the new profit sharing ratio
of Anshu, Nitu and Jyoti.

(1) 4:3:3 2) 3:4:3 3) 3:3:4 4) 3:2:1

The journal entry for treatment of goodwill, when a new partner brings his share of goodwill in cash and
one of the old partners gains, involves the following :

(A) Gaining Partner’s Capital Account is debited

(B) Premium for Goodwill Account is debited

(C) Sacrificing Partner’s Capital Account is credited

(D) Gaining Partner’s Capital Account is credited

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only (2) (A), (B)and (C) only
(3) (A),(B), (C) and (D) (4 (B), (C) and (D) only
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28.

29.

30.

31.

OIfTPLIF ORI 0o N

SIfAPI-1 SIfAFI-11
O AfTrers fo g i (20w) ZSIERIET B R S TR )
RRRIETIER))
(A)  ATOTF WLIH] (1S O 45W=
(B) AfSTEI TR WS 1) 65N
(C)  ATOIP AR WSO () 7.5WR
(D) ASTEIERAe*[ (IS av) 3W=

(1) (A)- D, (B)- (), (C) - (1T, (D) - (V)
) (A)- (D, (B)- (), (C) - (II), (D) - (IV)
(3) (A)-(AV), (B)- (), (C) - (1), (D) - (IT)
4 (A)-(1V), (B) - (III), (C) - (ID), (D) - (D)

FITOT T TSN (G 2 : | WHYATOS AN OI9)-IG] N WA (SETEANS OfIITO] Mo
9% 5OYIs* WeHF AR (NN AT FERIE TGS T3, 25,000 B BROI WF Aol
MO NG G Ao WA TYATew (WENF (RII6T AR IE GBI (T
ATl T FIAF ARG TH.(FENNGNT AS BATG FRReT | IRIS A 76,000 2022-23
PO BRG] (11T NOI6] =

(1) %4,000 (2) 2,000 (3) 6,000 (4) 4,500

L HF NG (2(F 3 : 2 WYNOO A® ©I5). TGN FIN WA, (SETHATE (SIS 3/10 OIS
MR T AR RO A= FRRE AOT (08 We®F 21_M 2/10 WF QI A 1/10 Ao
I T, NG W (GHIST VG 10 ©I9Y-ITSIN NS NN FIF|

(1) 4:3:3 2) 3:4:3 (3) 3:3:4 4) 3:2:1

SfreRR BfFeST I TIwa AT, (IST TgN WA T INR (S8 AR =L
TN S A TR I 10 P, TS NH A IOEE ABGS AHS

(A) SN TALN JFNGG AT FIIOT (GG FI =TT

(B) SIeRT GGG AR FARNIN FIf6 (@RI =

(C) OIS FI AR eI JFNG6 Gl FI 2

(D) SLANMIRI YA JFNGG AT FIICOI G FI TV

OeTe A [RFFTIZI 21 A5 TS0 IRV FIF3

(1) (A), (B) AT< (D) (P (2) (A), (B)WI¥ (C) (et

(3) (A), (B), (C)A¥ (D) (4) (B), (C)N< (D) (R
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32. While preparing Cash Flow Statement, purchase of goodwill is treated as :
(1) Operating activity (2) Financing activity

(3) Investing activity (4) Exraordinary item

33. The components of Computerised Accounting System are :
(1) Data, Report, Ledger, Hardware, Software
(2) Data, People, Procedure, Hardware, Software
(3) People, Procedure, Ledger, Data, Chart of Accounts
(4) Data, Coding, Procedure, Rules, Output

34. The Sales and Accounts Receivable Subsystem deals with :
(1) the recording of Sales, maintaining of Sales Ledger and Receivables
(2) the preparation of Budget for the coming financial year
(3) the preparation of Profit and Loss Account, Balance Sheet and Cash Flow Statement

(4) the purchase and payment to creditors

35. The common fields used in a relationship between tables are called :
(1) Joint fields (2) Main fields
(3) Table fields (4) Key fields

36. On dissolution of a firm, bank overdraft is transferred to :
(1) Bank Account (2) Realisation Account
(3) Partners’ Capital Account (4) Partners’ Loan Account

37. Arrange the following steps in the correct sequence of the life of a company :
(A) Commencement of Business
(B) Incorporation
(C) Promotion
(D) Floatation
Choose the correct answer from the options given below :
(1) (A), (B), (C), (D) ) (A), (O), (B), (D)
(3) (B),(A), (D), (O) 4 (©),(B), (D), (A)
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32.

33.

34.

35.

36.

37.

5TM 2R RIS AF© FIR TATO AR T FRACOT ATNEIVI I 50 FI =3

(1) IO PrEeary ) Rermarfeesy
3) RfNtmoRIrfeae 4) TSP TG

FNOORIZGG JFNG6S ANMAR GATATNTNZ X &8
(1) O, ARSI, (TGS, TGRI, T/

(2) O, Nz, A, TR, TR

(3) WZ A, ((GR, O, IFNG6I BI6

(4) OIGI (PG A, TN, WCEG

AP ST A9 IS CHA-NIZR RIS 2 3

(1) RPIR TG, [P (IO W A2 SN THALHY

2) WSS S I AR IMCTH ABFS F0

(3) IS S (AIFHN /5, ([TTS JG WNF 79 47 AR [ 20F© TN
(4) ATRTOTTFAP 3 NP AN

(IR NG STES IO SR Ch AP (IR

(1) IS CFETIZ 2) AL CFATIR

(3) SIETFR CFITIR (4) I GFIR

5T A ©29 (TR TS, (A3 TORGIE FNGS B 2Te

(1) [RP IFNGB ) TRUTTRCREA A FHANFIT JPNG6
(3) LIRS YA JFNS6 4) AAARIAFAF AT TFTO6

BT (FPATNT GG 3P FN© [NRATIS AR ARIR IR FIBS
(A) TIATIL IS

(B) MSOSHIT

(C) ABR

(D) ST 41

TS Ml RFFTIZIRN A0S BSILo! AR FIB3

(1) (A), (B), (©), (D) (2) (A),(©),(B), (D)
(3) (B), (A), (D), (C) @) (©), (B), (D), (A)
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38. Arrange the following in the correct order :
(A) Subscribed Capital
(B) Issued Capital
(C) Authorised Capital
(D) Paid-up Capital
(E) Called-up Capital
Choose the correct answer from the options given below :
(1) (©), (B), (A), (D), (E) 2 (B), (), (A), (D), (E)
(3) (©), (B), (A), (E), (D) 4 (B), (O), (A), (E), (D)

39. The Deceased Partner's Capital Account includes the following amount/balances :
(A) Opening balance of his capital
(B) His share of profit/loss till the date of death
(C) His share of General Reserve
(D) His drawings till the date of death
(E) Amount paid to his executors
Choose the correct answer from the options given below :
(1) (A), (B), (D) and (E) only
(2) (A), (B), (C) and (D) only
3) (A), (B)and (C) only
(4) (A), (B), (C) and (E) only
40. Identify the correct sequence of the following steps involved in calculating cash flows from operating
activities of a company :
(A) Operating profit before working capital changes
(B) Cash generated from operations
(C) Income tax paid
(D) Net cash flow from operating activities
(E) Goodwill amortised
Choose the correct answer from the options given below :
(1) (B, (O), (D), (A), (B) 2) (B, (A), (D), (B), (O
(3) (B, (A), (B), (C), (D) 4 (A, (B), (O, (D), (E)
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38. NRERCRR ST FIe IR F9F3
(A) BNY(& T
(B) RTS8
(C) LS T
(D) AT YT
(E) SR I Ol F[ JeId
TeTo Al RFTTNRT AR AOF GeIo! AR FIF3
(1) (©), (B), (A), (D), (E) (2) (B), (©), (A), (D), (E)
(3) (O, (B), (A), (E), (D) 4 (B), (C), (A), (E), (D)
39. YO WAMRY YL PGS GeTS GIFY F ATHV([EA TFGS ATH|
(A) (SSIIGHINT TH SIRATNT
(B) I OIRYATS &A@/ (FIIFEINI (SEF S*
(C) (O3 SR TGS A
(D) YQIF OI[{YAS (03T foaTy=
(E) (O3 FrIeeTmetas (ar sy
oS AT RFFTYRI AT OF G@ILG! AR FIF3
(1) (A), (B), (D), (E) (LT
(2) (A), (B), (C), (D) (P4
(3) (A), (B), (C) (Pl
4 (A), (B), (C), (E) (PdeT

40. BT (PRI IO FIRIFATHT NI VT 4N AR NV FRIS OO GO OeT® G FT
HAMCFTHRS AT TN OANG FIF3

(A) FrAHFA LR ARTONI A& FrAFA o
(B) JPIIFATHNT IR N 7R 4

(C) AN I TR

(D) FTAFIN FILFATNR RN YP VoW 4N A=
(E) SR A ARTNE H1 =R

ST Tl FREFSTIZR A SO F TSSO IR~ FIB8
(1) (E), (C), (D), (A), (B) (2) (E), (A), (D), (B), (O)
(3) (E), (A), (B), (C), (D) (4) (A), (B), (C), (D), (E)
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Read the following information carefully and answer the next five questions :

Particulars 3

Revenue from Operations 8,75,000
Creditors 90,000
Bills Receivable 48,000
Bills Payable 52,000
Purchases 4,20,000
Trade Debtors 59,000

41. Calculate Trade Receivables Turnover Ratio.
(1) 8.18 times (2) 823:1
3) 8.18% (4) 8.81:1

42. Calculate Average Collection Period.
(1) 30 days (2) 60 days
(3) 45 days (4) 15 days

43. Calculate Trade Payables Turnover Ratio.
(1) 29.6 times (2) 2.96 times
3) 29.6% 4) 269:1

44. Calculate Average Payment Period.
(1) 123 days (2) 121 days
(3) 132 days (4) 133 days

45. Trade Receivables Turnover Ratio and Trade Payables Turnover Ratio are categorised as :
(1) Liquidity Ratio (2) Solvency Ratio

(3) Activity Ratio (4) Profitability Ratio
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OO AN SATHYZ OIFTALS ABE TS HIFS! ATE6T AT B8 e

Particulars z

FTAFANT _(IRIIAGE | 875,000
TSP 90,000
e SyReTTII5Yy 48,000
et ARTNLTIT 52,000
FU<-TR G 4,20,000
TGy A THro™IRe 59,000

41, VGF =TI BIef "SI TS NV FIB
(1) 8.18919 (2) 8.23:1
(3) 8.18% (4) 8.81:1

42.  NO NI NIV PP

(1) 30fRs 2) 60 =

3) 45N @ 15m=
43, ARTMYTAI5Y FIAS BT "G TYANS N FIP

(1) 29.63] ) 2.963

(3) 29.6% @) 2.69:1
44. TG ARCNLI STITSHIA VN FIF

(1) 123 @) 121 =

3) 132w @) 133

45. ey RETedd Brfe "o WYT® S AT ARTNLTIT B O WYNSF JNAE
CRIN g T =R

(1) Rt g re (2) A AL AT
3) ITAFANRE YT 4) AOGAFTOR TYAS
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Read the following carefully and answer the next five questions :

G, K and B were partners running a partnership for last 10 years, sharing profit and loss in the ratio of 5 : 3 : 2.
Post Covid, their firm was affected badly and started incurring losses. On 315t March, 2023 they all decided to
dissolve the firm due to continuous losses. Their capital balances were ¥ 4,00,000, ¥ 3,00,000 and ¥ 2,00,000
respectively. Firm had liabilities ¥ 80,000, Cash balance ¥ 40,000, other Sundry Assets ¥ §8,50,000 and P&L
A/c constituted the rest. Assets realised at 80% and liabilities were paid in full. There was unrecorded liability
0of T 50,000 which was settled at ¥ 40,000. Realisation expenses amounted to ¥ 30,000, being paid by G on behalf
of the firm.

46. What is the mode of dissolution of the firm followed by G, K and B ?
(1) Dissolution by Agreement
(2) On the happening of certain contingencies
(3) Dissolution by Notice
(4) Compulsory Dissolution

47. Determine the amount of Profit and Loss Account.
(1) (Cr.)%90,000 (2) (Dr.)%90,000
(3) (Cr.)%1,30,000 (4) (Dr)%1,30,000

48. Determine Gain/Loss on Realisation.
(1) Loss¥2,40,000 (2) Gain¥ 24,000
(3) Loss¥1,70,000 (4) Loss¥2,10,000

49. The entry for realisation expenses in above case study will be :

(1) Realisation A/c Dr.
To Cash A/c

(2) Realisation A/c Dr.
To G’s Capital A/c

(3) G’s Capital A/c Dr.
To Realisation A/c

(4) Cash A/c Dr.
To Realisation A/c

50. Existing Profit and Loss Account in the books of the firm will be shared/borne by partners in the ratio :
(1) 5:3:2 (2) Equal Ratio
3) 4:3:2 (4) Ratio of closing capital claims
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oo A FAFAN SFMTT TS TS AITS! ATHOT AN g v :

G, K I B WIR& (IR 10 IR 4R NNAG 512 AFTHLARR 5 2 3 2 2 NGO 4 49 JeT Y-
To] HIR W) FTOG fHRS (SEART ASHNOT (IANF oA (R A (AAIFHNI TYA
T RS FRRA 2023 539 31 WES (GETAF AFANI NS ((IFENI AR ATSHINCGT ©35Y
PR a1 IR (SETATRT YAYNI GRS SR &FN £ 4,00,000; T 3,00,000 S € 2,00,000 |
HIS AIIGO! SR 80,000 BT, N9W 40,000 T 4N D 8,50,000 5T, W7 RO 574 =
1R, O, O . 99, Je1. A/c-(T IBAMN 1IN IR TS 80 *FO18*I© MY FT (2R AP
AR ST AR F C=RE 50,000 BFIR VAGS (NIZRA A7 WRE O 40,000
OFI® (WS F1 (*2el WMIAT Y6 ATV IR 30,000 BT, BT TG (T ARSDINCGIS (R AR
iR

46.

47.

48.

49.

50.

G, K SN B ST 1 FIH< [ *rafS
(1) P aRriRefy

) FZuw AFoTe! Tow HTH® (FRR CFaS
(3) TINAIT GISC® [R5

(4) TIPS [[FTHRNR
S W (TP JPNO6 I AN [N [0

(1) (Cr.)%90,000 2) (Dr.)% 90,000

(3) (Cr.)%1,30,000 (4) (Dr.)%1,30,000

TSNS e oire (FIIFE I [T F3P

(1) (2R (AT E 2,40,000 (2) S FIB 724,000

(3) (PR (ATERIE 1,70,000 (4) (TR (ATART£2,10,000

SIS (SHT WLTINO WY FM IO AT RS
(1) &¥elfdh P A/c Dr. T
A/c N5TR 4 #71e PR
(2) &¥elfdh P A/c Dr. ST
A/c N5TR 4 #T1S PR
3) TS @BTA/C Dr.
{ RCTe=rae~ A/c
(4) WM A/cDr.
Q RCTe=rae~ A/c
ARSI fFOITIZS IFT IO [ A JeT JFNGB WAAIAFAF G 2 WYNOS O
JONG R T3
(1) 5:3:2 (2) ANV AYATS
(3) 4:3:2 4) TF YAL AN AYANS
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